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1 100kN/m#Z#EZ25| 1.00 | 0.00 ~ 033 104.84 |3mEBZ S ~ - -| 100kN/M%ZE#BZ3 | 1.00 | 1269 ~ 1415 104.84 |3m%ZE#BZ% ~ -
znLs 1.00 | 0.33 ~ 811 100.00 | =nllst | 000 ~ 811 1.93 9.76 znLs 1.00 | 5.00 ~ 1269 100.00 | =nsS | 6,00 ~ 1415| 1.93 9.76
2 100kN/m#%#BZ 5| 1.00 | 000 ~ 047 10696 |3Im&EEZ3 ~ -] 100kN/m%Z#z2% | 1.00 | 11.47 ~ 1315| 106.96 |3mEBZS ~
FnLs 1.00 | 0.47 ~ 826 100.00 | =04y | 000 ~ 826|200 10.11 ZnLs 1.00 | 5.00 ~ 1147 100.00 | =nRS | 6,00 ~ 1315| 2.00 10.11
3 100kN/m#%#BZ % ~ -|13mEEZ S ~ -] 100kN/m#%#8 %% ~ -|3mEEZD ~
FnLs 1.00 | 0.00 ~ 741 94.52 | =hst | 0oo ~ 000|171 8.63 ZnLs 1.00 | 5.00 ~ 9.70 94.52 | =N | 5.00 ~ 9.7011.71 8.63
4 100kN/m##BZ% | 1.00 | 000 ~ 0.17| 10243 |3ImEEZ3 ~ -| 100kN/m%#BZ 5| 1.00 | 1079 ~ 1127 10243 |3mZE#BZ3 ~
FnLs 1.00 1017 ~ 7.95 100.00 | =St | 000 ~ 7.95] 2.08 10.62 znLs 1.00 | 5.00 ~ 10.79 100.00 | =nRS | 6,00 ~ 11.27| 2.08 10.52
5 100kN/m#Z#8Z5%| 1.00 | 000 ~ 1.26| 119.02 |3mEHBZ% ~ -| 100kN/m%#BZ 5| 1.00 | 11.45 ~ 1697 119.02 |3mZi#BZ3 ~
FnLs 1.00 | 1.26 ~ 9.04 100.00 | =St | 000 ~ 9.04)2.18 11.00 znLs 1.00 | 5.00 ~ 1145 100.00 | =nRS | 5,00 ~ 1697|218 11.00
6 100kN/m#%#BZ % ~ -|13mEEZ S ~ -] 100kN/m#%#8 %% ~ -|3mEEZD ~
s ~ Zh Lot ~ ZhES ~ Zh s ~
. 100kN/m%#E% % ~ -|3mEEZD ~ -| 100kN/M%Z#BZ % ~ -|3mEBZ B ~
Zh s ~ Zh LS ~ Zh LS ~ Zh s ~
g 100kN/m%Z#E% % ~ -|3mEEZD ~ -| 100kN/M%Z#BZ % ~ -|3mEBZ B ~
Zh s ~ Zh Lo ~ Zh LS ~ Zh s ~
g 100kN/m#%#8Z25| 1.00| 000 ~ 024 103.58 |3m%E#BZ 3 ~ -| 100kN/m%#BZ 5| 1.00 | 1060 ~ 1124 10358 |3mZE#BZB ~
znLs 1.00 | 024 ~ 803 100.00 | =gt | 000 ~ 803)]1.82 921 znLs 1.00 | 6.00 ~ 10.60 100.00 | =nRS | 5,00 ~ 1124 1.82 921
10 100kN/m#%#8Z25| 1.00| 000 ~ 024 103.49 |3m%E#BZ 3 ~ -| 100kN/m%#BZ 5| 1.00 | 1062 ~ 11.28| 103.49 |3mZE#BZ3 ~
znLs 1.00 | 024 ~ 802 100.00 | =St | 000 ~ 000 1.72 8.70 znLs 1.00 | 6.00 ~ 10.62 100.00 | =nS | 65,00 ~ 1128|172 8.70
17 100kN/mM%#82% | 1.00 | 000 ~ 081 112.11 |3m%#BZ % ~ -| 100kN/M%#825 | 1.00 | 1059 ~ 1306 112.11 |3mEBZ5 ~
znLs 1.00 1 081 ~ 860 100.00 | =gt | 000 ~ 0.00)]1.73 8.74 znLs 1.00 | 6.00 ~ 10.59 100.00 | =nS | 65,00 ~ 1306 1.73 8.74
100kN/mM%Z#E% % ~ ImEHBZD ~ 100kN/m%Z#BZ % ~ ImEBZS ~
Zh s ~ Zh LS ~ Zh s ~ Zh s ~
100kN/mM%Z#E% % ~ ImEHBZD ~ 100kN/m%Z#BZ % ~ ImEBZS ~
Zh s ~ Zh LS ~ Zh s ~ Zh s ~
100kN/mM%#E% % ~ ImEHBZD ~ 100kN/m%Z#BZ % ~ ImERZS ~
Zh s ~ Zh LS ~ TS ~ Zh s ~
100kN/mM%#E% % ~ ImEHBZD ~ 100kN/m%Z#BZ % ~ ImERZS ~
ZNLS ~ ThLlst ~ LS ~ Zhn st ~
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